CHEMISTRY 2.7 



ANSWERS
1 (a)
Oxidation  

SO2(g)  +  2H2O(l)     →    SO42-(aq)  +   4H+(aq)  +  2e-

Reduction

Fe3+(aq)   +    e-    →    Fe2+(aq)  

Balanced 

SO2(g) +  2H2O(l) +  2Fe3+(aq)   →  SO42-(aq) +  4H+(aq) +  2Fe2+(aq)  

Colour change
Orange solution to pale green solution.

   (b)
Oxidation  

Fe2+(aq)   →    Fe3+(aq)  +  e-    

Reduction

Cl2(g) +  2e-  →    2Cl -(aq) 

Balanced 

 2Fe2+(aq)   +   Cl2(g)  →    2Fe3+(aq)    +  2Cl -(aq)

Colour change
Pale green solution to orange solution.

   (c)
Oxidation  

2I-(aq)    →    I2 (s)   +  2e-

Reduction

H2O2 (aq)   +  2H+(aq)   +  2e-  →     2H2O(l)  

Balanced 

2I-(aq)   +  H2O2 (aq)   +  2H+(aq)    →    I2 (s)   +  2H2O(l)  

Colour change
Colourless solution to brown solution.

   (d)
Oxidation  
 
2Br-(aq)    →    Br2 (aq)   +  2e-  

Reduction

MnO4- (aq)   +  8H+(aq) +   5e-    →    Mn2+(aq)  +  +  4H2O(l)

Balanced 

2MnO4- (aq) 
+  16H+(aq)  + 10Br-(aq) 








→  2Mn2+(aq)  +  5Br2  +  8H2O(l)

Colour change
purple solution to brown solution.

   (e)
Oxidation  

HSO3-(aq) +  H2O(l)   →  SO42-(aq)  +  3H+(aq)   +  2e-  

Reduction

Cr2O72-(aq)   + 14H+(aq)  +  6e-  → 2Cr3+(aq)  + 7H2O(l)

Balanced 

Cr2O72-(aq)  + 3HSO3-(aq)   +  5H+(aq)








→   2Cr3+(aq)   + 4H2O  +   3SO42-(aq)

Colour change
Orange solution to green solution.

